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1 100kN/mM##8Z 5% -1 -~ = —-|3mZE#BZE - ~ = = —-|100kN/mM%#BZ 5 = -~ = i Blu st -~ = = =
Zh st -l -~ = - ZHnLS - = = = Zh s = -~ = - ZHn LSt = R = = =
9 100kN/M%#B% % -1 -~ = -I3mZEB=ZB - ~ = - —-| 100kN/mM%Z#B % % = -~ = -|3m%i#BZ5 a ~ = - -
Zzh st - = ~ - -| ZR st = ~ - - - s - -~ - -| #h st = Kod - - -
3 100kN/mM%E{EZ % -l -~ = -|3m%E#EZE - ~ = = —-|100kN/ Mm% 25 = -~ = -|I3m%EEZ S =| ~ = = =
Zhn st 1.00{0.00 ~ 6.91 87.50| ZnList 000 ~ 691] 1.95 9.86 s 1.00] 500 ~ 9.27 87.50] #nList | 500 ~ 9.27| 1.95 9.86
4 100kN/mM%#B% % -1 -~ = -I3mZEBZB - ~ = - —-| 100kN/mMZ#B % % = -~ = -|3m%i#BZ 5 a ~ = - -
Zzh st 1.00{0.00 ~ 6.21 78.04] Zh L4t 10.00 ~ 0.00| 1.65 8.36 st 1.00] 5.00 ~ 737 78.04] 14t | 500 ~ 7.37| 1.65 8.36
5 100kN/mM%E{EZ % -l -~ = -|3m%E#EZB - ~ = = —-|100kN/ Mm% 25 = -~ = —-|3m%EEBEZ S —| ~ = = =
Zh st 1.00/0.00 ~ 6.20 77.86| ZhList |0.00 ~ 000 1.65 8.32 Zh s 1.00] 500 ~ 738 77.86] Zhlst | 500 ~ 7.38| 1.65 8.32
6 100kN/M%#B% % -l -~ = -I3m%zx#EZE - ~ = = —-|100kN/ Mm%z 5 = -~ = -[3m%E{E2 3 = e - - -
Lt 1.00/0.00 ~ 7.09 90.00f £ L4t [0.00 ~ 0.00| 1.68 8.47 Zzh st 1.00] 5.00 ~ 9.09 90.00| zh s [ 500 ~ 9.09] 1.68 8.47
7 100kN/mM%EH#BZ % -1 -~ = -I3mZiEZE - ~ = = —| 100kN/ Mm%z 5 = -~ = -[3m%EEZ D = = = =
ZThilst 1.00{0.00 ~ 7.35 93.67| #nList 000 ~ 000 1.68 8.47 Zh s 1.00] 500 ~ 9.71 93.67| Zh st | 500 ~ 9.71| 168 847
8 100kN/M%#B% % -l -~ = -|3m%x#EZE - ~ = = —-|100kN/ Mm%z 5 = -~ = -[3m%x#EZ S o ~ - - -
Lt 1.00/0.00 ~ 7.53 96.25| £ L4t [0.00 ~ 0.00] 1.75 8.82 ZhnLs 1.00] 500 ~ 9.90 96.25| Th s | 500 ~ 990 1.75 8.82
9 100kN/m#%#8 24| 1.00/000 ~ 0.13 101.89|3m%E#BZ2 3| - ~ = - —-|100kN/m%#x%| 1.00[10.56 ~ 10.90 101.89(3m%Z#BZ 3 =~ = = =
zh st 1.00]0.13 ~ 791 100.00] £ List [000 ~ 791 2.23 11.27 ZnLst 1.00] 5.00 ~ 10.56 100.00] ZH1 i4t | 500 ~ 10.90| 2.23 11.27
10 100kN/mM#ZH#BZ % 1.00{0.00 ~ 0.40 105.92|3m%E#{BZ 5 =l ~ = = —| 100kN/iZ#8 % % 1.00{10.63 ~ 11.71 105.92|3m%* B2 5 =1 ~ = = =
Lt 1.00/0.40 ~ 8.19 100.00| Zh List [000 ~ 819 2.26 11.42 ZnLs 1.00] 5.00 ~ 10.63 100.00f 21 lst | 500 ~ 11.71 2.26 11.42
11 100kN/mM#EH#BZ % 1.00{0.00 ~ 0.21 103.04[3m%E =5 = ~ - = —| 100kN/mM%E#B 25 1.00{10.53 ~ 11.08 103.04[3m%E#BZ % il ~ - - =
Zzh st 1.00]0.21 ~ 7.99 100.00| £HList 000 ~ 7.99] 2.20 11.13 ZhnLst 1.00] 5.00 ~ 10.53 100.00|] Zh1 l4t | 500 ~ 11.08] 2.20 11.13
12 100kN/mM%#8 2% 1.00{0.00 ~ 0.20 102.99(3mZEEZ D ol ~ = = —| 100kN/ mM%#B 25 1.00{10.53 ~ 11.07 102.99(3m%E X % =1 ~ = = =
st 1.00/0.20 ~ 7.99 100.00] £ List [000 ~ 799| 1.78 9.01 s 1.00] 5.00 ~ 10.53 100.00f Zhlst | 500 ~ 11.07[ 1.78 9.01
13 100kN/M%#B% % -1 -~ = -I3mZEBZB - ~ = - —-| 100kN/MZ#B % % = -~ = -|3m%i#BZ 5 a ~ = - -
Zh s 1.00/0.00 ~ 5.57 69.58| £ L4 [000 ~ 557| 201 10.16 zh st 1.00] 5.00 ~ 7.09 69.58| Th s | 500 ~ 7.09[ 2.01 10.16
14 100kN/mM%E{EZ % -l -~ = -|3m%EEZB - ~ = = —|100kN/ Mm% 25 = -~ = —-|13m%EEBEZ S — ~ = = =
Zh st 1.00/0.00 ~ 554 69.19] ZnList [0.00 ~ 554] 202 10.19 s 1.00] 500 ~ 7.08 69.19] Zh s | 500 ~ 708 2.02 10.19
s 100kN/mM%#B% % -1 -~ = -I3mZEBZzB - ~ = - —-| 100kN/mMZ#B % % = -~ = -|3m%i#BZ5 o ~ = -
ZTh st 1.00{0.00 ~ 469 58.49 ZnList |0.00 ~ 469 1.86 9.39 Zh s 1.00] 500 ~ 507 58.49] Zh st | 500 ~ 507| 1.86 9.39]




